Equal 9 step grey scaling betweeb* g;n=3.6 andL*g,\w=95.9, Yoref=20.0, normalisation greyU
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L*0ane3.6,L*0am49.8,L%0an=96.0, Yoan=0.4, Yoam18.2, Yoan=90.0, Coay=Yoaw Yoan=225.0
L*taN=37.4,L*tau=49.8,L*taw=77.6,Ytan=9.7, YtaUu=18.2, Yiaw=52.5, Gay=Yiaw: YtaN=5-4
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 24, g*y= 16 g%= 93, g%5= 86
intended output real output linearized output
L*0a L*Or YOa YOr ;L*a Al*a L*tr Yta (L*tr) 1168|%a Al*a
960 10 900 10 ; 77.6 1.0 525 10 77.6
: 7.7 48
84.4 0875 649 072 69.8 0.808 405  0.881 72.8
; 7.3 5.0
729 075 450 0.498 625 0.626 31.0  0.757 67.8
3 6.7 5.1
61.3 0625 296 0.326 558 0458 237  0.629 62.6
: 6.0 5.2
498 05 182 0.199 49.8 0.309 182  0.498 57.4
: 5.0 5.2
382 0375 10.2 0.11 44.8 0.186 14.4  0.368 52.2
3 3.7 5.0
267 025 50 0051 411 0.093 11.9  0.244 47.2
: 2.4 45
152 0125 1.9 0.017 387 0.032 105  0.131 42.6
3 1.3 5.2
36 00 04 00! 374 00 97 0.0 374

AL*o=115  (i=1,2,....8) normalisation: Yeaiy=Yoay <02l Yoref
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